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IMeéBAnue 1. Beeite dhec tic Q-gppudioeic copdtov o : Q(v2) < C, dnh. 1o
elvan pLar ovOwon (eméxtaon) e Tautotixic epfitone Q — C.

TeéBAnpa 2. o) Beeite dhec tic Q-gufuidiceic cwudtwv o : Q(V/5) — R.
B) Beeite 6heg tic Q-euPudicec owpdtwy o : (@(\3/5) — C.

IMebBAnpa 3. Beeite oheg tic Q-gufuidioeic owudtwy o : Q(Vv2,v3) — Q.

MeoBAua 4. o) Bpeite dhouc Tolc Q-autopoppiopoic o @ Q(v/2,v/3)
Q(V2,v3).
B) Beette 6houg tol¢ Q-autopoppiouois o : Q(\/g, \/5) — @(\/3, \/5)

MeéPAua 5. Evor 1 enéxtaon cwpdtov Q < Q(v2, v/2) xavovixd;

Ie6BAnpa 6. 'Eotww K < F enéxtaon ooupdtov ye [F: K| = 2. Aceilte
OTL 1) EMEXTACT] EfvalL XOVOVIXT.

Hpo@)vqp.oc 7. 'Botw f(x) € Q[z] mohudvupo mepittot Baduod > 3 1o omolo
el oxpBide pio mpaypotied pila a ¢ Q. Acite 6t 1 enéxtaon Q < Q(a) dev eivan

AAVOVLXY,.

ITe6BANpa 8. 'Eotw a € R pe a' = 5. Acifte 6t

o) To Q(ia?) eivon xavovixh enéxtaon to0 Q.

B) To Q(a + ia) ebvor xavovxh enéxtaon to0 Q(ia?).
v) To Q(a + ia) dev eivon xavovixy| enéxtaon 100 Q.

IMebBAnpa 9. Acite 6n 1 enéxtaon Q < Q(ﬂ, \/5) elvor xovovixn eméxto-
on.



